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long numfamily;

float familysize,populate;
MWriteLine{"------ family size in IRAN ------
WriteLine{"Enter Population:");

populate = long.Parse( .ReadLine());
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numfamily = long.Parse( ReadlLine());
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Enter number of family
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family size 1n IRAN
Enter Population:
323311
Enter number of family :
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family size i1n IRAN: 3.392692
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family size 1n IRAN
Enter Population:
93941
Enter number of family
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family si1ze 1n IRAN: 3.793291
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double sgquare_area = double.Parse{Conszole,.Readline());
double side = Math.Sgrt(sguare_area);
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MWrite("Enter the radius in meter: “};
int radius = int.Parse( ReadLline());
double env = 2 * PI * radius;
Jiriteline{"wn'n circle environment={@}", env};
:-:3IIII .. , IIIIIIIIIIIIIIII:-:

Jdrite("n'n enter the square area: ");
double sguare_area = double.Parse( .ReadLine());
double side = L5grii(sguare_area);

JMrite(™wn square side size={@}", side);
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s_area = 38 * 80;
double count = square_area / s_area;
Jrite(™wn Wn number of tiles 38*68:{@}", count);

env = env * 188;
double =1_area = 15 # 15;
double area = env ¥ 38;
double numbertile area / sl_area;
Jrite{"n'n number of tiles 15*15:{8}1", numbertile);
.ReadKey( };
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circle environment=125%.663YH6143592
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A=b+; Ll
A= A=++b; el 58! it
A=¥ A:b——; ‘5..,.@[5 —

A=Y A=--b; als _
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Ly oo 90 ligar s Slaad 1oF (DS as V) (DS b g2 i 51 (SO JUEH 51 gy 9 008 <l 50 1) 14V g V4) (D590 ()l g2r yod Sluad’ &5 a5 (5 4ol
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int countl®l, countle?;

Mrite("Enter count of student class 16133 Vo ¥ IS el il olaws gy cOUNt 102 ,iie g Vo ) LodIS l3g0] Liils slass gl COUNEL0T i iy o ®
countl@®l = int.Parse( ReadLine());

Write("Enter count of student class 102:"); DS 0 )|)§ countl01l . s 4O oo; CA—"*L.’.)O ).3)15 )‘l Ve u.:)lf Q‘)'j.ao] u:';..‘.lo Slows Qb.;.c & \) GO o Lo fal.:...’ L °
countl@? = int.Parse( ReadLine(}); :

diriteLine("coutt of students class 101=(0} ", count1dl--Jiyy B couNntl02 | xie ;0 500,5 Cdl s )8 51NV Y S gl als slaw laie 4y gouae cowlio plig L

Jriteline{"countl1®1={@} ", countl@l); ’

Mriteline("count of students class 162={0} ", Countlids+); aas e 81, countl01-- laie count of students class 101 < )le blie 55l o )le 5loolaiul L @

Jriteline{"countl1@2={8} ", countl®?);

Readkey();

20 oo isles 0ol mals axly S as' |y count 101 Jol> 03K jaws jleolazul b
Sme- e 1,81, countl02++ ,lais count of students class 102 & )Le Jlio o35l & )le jloolanal b ©

D20 o isles ools als axly G asT | count 102 ol o3l jgiws jleolaal b

Enter count of student class 181:14
Enter count of student class 182:23
count of students class 181=14

countl®l=13«—
count of students class 182=23
countld2=24 « ——
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int countl®l, countl®Zz:

“onsole.Write("Enter count of student class 181:");

countl@l = int.Parse(Console.Readline());

“onsole.Write({"Enter count of student class 182:");

countl®2 = int.Parse(Console.Readline());

“onsole.Writeline{"count of students class 181={@} ", --countl@l):
1sole.Writeline("countl@1={@} ", countl@l};
1sole.Writeline{"count of students class 182={@} ", ++countl@2);

“onsole.Writeline("count182={8% ", countl@z):

_onsole.ReadkKey( );

Enter count of student class 181:14
Enter count of student class 182:23
count of students class 181=13

count1B@1=13 «——

count of students claszs 182=24

countl1B2=24«——

Dt Aadia dali by pyAali (38
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DS c8s blae aelp a ;L

40l 2 b gs
inta=5+7; O+Y L el plpas int g9 5la osie cay,os @
string s = "ali" + "reza"; "reza“ + "ali* laie L SErNG g4 51 S st iy a5 ®

string count = "count of pencil:™ + 108;
“onsole.Writeline(a);
1s0le.Writeline(s);
1s0le.Writeline(count);
150le. Readkey () ; a )lade ol 0
S jlade ol

(6‘ M))‘J.O.o 5069.o.>ubw‘ ).3‘).35 )‘J.O.o)
L cesl plpas string eq lcount e cayy ©

(\++) g (count of pencil:) sl ais, jlade 30§50z

count jlaie ol> ®

T 9>
A+Y dac 90 fgozme b Cuwl plpas a jlade > @

1
alireza

"reza“ + "ali“ as, g0 Gl L col plpaSS lade Ol>

count of pencil:-188 V-« 5" count of pencil® aws, go bl b ol 4l a5 cOUNE oo Ul @

(ool 00,5 oy 23 STMING £ 51 9> ol oo ald) Glgre a1y Vo)
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string s = "ali";

] ] |
reza";

S +=

Console.Writeline(s);
Console.ReadKey({):

1-
: @
~ 59 .
Sy

LS |1 1re=a

ali ais, JJode LSTHNG g4 51S puiite ciy a5 ®

Bl g oS pex> rEZA" Jlade L1, S (L3 oo b ol 00,5 soliiwl += Klee 5l
( s=s+"reza” Ll Jalaw S+=“reza”)

A o e ai g0 Gl Slae lgie 4 Slae oplcasbstring go 51+ Shoe slo Wigloe 31 SO JBlas 511 4SS

Dy, oo ) A Al 9o Bl Clucl Slee lgie @y 4= Slae g ald;) g0 Gl gl + Sloe 1 4SS
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sl False ¢True L (boolean) Jg &jle O anslio pl 4ol 0605 oo 41,8 colitu] 8,50 diglas 99 o denlin sl p (gl dnolin slo Kloe 1 4SS

D o0 ooliiw! plioy b b Ol ygiws jo b Sloc I aiws (pl

e b aiie S0Ss e Ojle 90 a5 WS o gy 2 SNles ool = Sloe

il )5 o pfalse jlade &jganl ey ail culy Caw Sglae 5l 2S5 Lo S Siglas a5 Wb Ko plrue Jhge 0 Shee opl < ,Klos
u\o)fsoffahe )‘J.O..o u)g.oa.u|).».c)d ML’ Qﬁu‘)wg&.a}l.o& ngLMmb)&gSwww?LwJub)iﬁftrue ts’)g.»a}))il.o.cu." :<=)§.Lo.9
1Bl e G Wiglos 5l 15550 C o diglos a5 Wb K ptrue S50 0 Slee opl > Slos

Mbwbwwjla.c)‘ ngwbgf)fwwuwdmbﬁﬁftrue kS’)ﬁ"")Q)iL"'CLJ"‘ :>=)§.Lo.9 ¢

w‘odw‘wda l?bOOI&gJ)‘A 5CY bfﬁé&od‘f).:)b'l.yo)d

I I I s -

A=false A=b==c; Srlp b sgluie

A=true A=b!=c; Syl b # =
A=false A=b<c; S < <
A=true A=b>c 555 > >
A=false A=b<=c; Solus 55 S>oS < <-
A=true A=b>=c; Sobas 5 S5 > >-
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sy dales False b True ass 3 ihie Ole SO Osle g ol ol anslin Klae fylgie 4= cdle A==B & )Le o1 ST

s 6‘ dos o L_gb)ﬂo.c )" )JYL: ‘5$L».wl.‘>bo Lng)ﬂo.C Ca.l}ls‘ D ASO
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WSS A Lo Lo o s,:Ts.é).oa.ot\S‘)..»l.gbg‘ﬁ‘)é uT B guco Al g A" Sy 99 (g 4ol

o YA+ eo,laie boint gg jliranWater e (a2 ®
int irankater = 199; P) ; J 2
. .l-.'ll'“'_'tELlﬂel'.: '_'I'e average consumption in IRAN -»> " + iranbater); Dgds s oals WLN iranWater )‘A.s.o WL‘A )3:_‘&&[_3 o
int worldkater = 135; -
.l-.'l'“i‘l:ELi"IE':: The average consumption in WORLD -»> " + worldWater); VWO 20,lase b int g 5l worldWater ,_x. W-TRCT I
oler 3 ol ol does danlis , . e .
Mriteline(” Is iranWater > worldWater:{8}", iranlater > worldWater); o9 oo 0310 ioled ool dillsi g canlio yle worldWater jlaac ©
ReadlLine(); .
) ~2b |, worldWater g iranWater e 0 polio ol plis SO L

Sl 3 ep !y False &jganl e o True 4,5 iranWater >  worldWater jlois 510,85 auslis

The average consumption ®n IRAN -> 190
he average consumption in WORLD -> 135 ‘
Is iranlater > worldHater:True WO ke OB ras laugie

Ve gl 08 e Lt

True 9,5 o Y1->\Y0 o>
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bool flag = false; False aJsl a5 ,luie g BoOl g4 5| Flag oo oy a5
int score = 7; .y o

_ Y adgl Jade Lint g4 5l Score o Ry e
“onsole.Writeline("score = {8}", score); ‘—\//l ‘_ =910 . &y iR A R
“onsole.Writeline("1s student passed:{8}, is score=7:{1}", flag == true, score == 7); Score i o> ©
“onsole,Readline(); I

sloolawl b w0 5l oas SCOre==7 4 flag==true jlois wbe &)lel ®

S5 oo Pl IS Gl g

score

is student passed:False, is score=7:True

sl &l dunslin glo Shoe 5l YL Slolre glo Slas gyl : aisS
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( Compile error) JbalS L dea i (jla )y (gl -)

S dan )y aal s gial Vg 3B ani ) ) FE 4aSa 48 23 6l e 02l (andldd ke ) laldad ()
;LS (le ) (sUad 45 gad 2ia

quﬁae\jcg\ﬁdaz\ﬁd\.dsyad\_ﬁu\ -

SO 5 S sS Gy a4 Cnalia (0 S5 Qule ) -

_JJ\MJJ;}?‘)QJJAS&)BSJ\chu\-

( Runtime error)) ) o) stas -Y
Dha p uaie SS9 el Aiile 2080 e F 4l )l ey poaS Jlalas

( Logical error) &haie (slhas -
) (ad o) AN Aaiili Ay g3 5l JSdia 4l (3hata OIS Lallad & 65 cpl o



3o 4l 5 S S slyine s e —————

o0 Bl 1 325 Olanilone 5035 €8l 3 [y G pablas (o0
69959 & Il S liel 0

&“%ﬁwiﬁba'

8 el o]y SO als e

)}T .““.QQ; & . Y

I 4’ int&J’)-\numlJ.tt,r;,“_‘ei)x;
int numl; *////’//////,//////f/’@yzs‘“bdudxﬂwLﬁ)ﬁ}Nﬁ ’
Console.WriteLine("Enter numl : ™); ; .

S01E. . 3 s3ls gg5.parse ae g console.Readline() jgws abewgs |y (5 lode ©

= ———— :
num; int.Parse(Console.Readline()); s o LENUML iie j5 . 0n 8 <3l s oS 5
0
num 3 Ll e numl jlode 4 usly S @
numl * 5;«

--numl; —

&S e S UMD e jlasly SO0

numl / 2; -
C;FEE_h.HPlTELlﬂE{"Huml @y ", numlj; 2y9) oo S ar ]y Jol> 5 00,8 s ¥ 1, NUMIL Jlaie @

Console.ReadKey(); $\\\\\\\\\

A2 o Hloled S I numl e jlade o
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Code  Description

Project File Line  Suppressicn St

['E:) C50201  Only assignment, call, increment, decrement, and new object expressions can be used as a Consolefpplicatio Program.cs
statement n3

€39 C50201  Only assignment, call, increment, decrement, and new object expressions can be used as a Consolefpplicatio Program.cs 19 Active
staternent n3

N

ool isles Co¥ slo &ygo s daliyp o bas ] 4 b e slas oS SIS Bls a5 EFror ja 65,080 (o las 90 gl)ls dalip opl 0usS o sanlie a5 jglailen

D (0

— % . . ‘e . * . . 2 . a e X %
Numl—numl SWWBW-’)-’)-’W‘S-’J"Q ‘) numl 5)‘m «.L’L:LE}C.Q) (5‘)-35-%“-’9-’ DY ot U"‘d"") numl 5

NUM1=NUM1/2: s gi oo s 29y gl a5 .0 3105 Cluiil (g muiiio b 4 |y Jol> Jg me0ls plxil 1;NUML/2 a5 ool sloxs| cde ol 4014 Las jo o0 glasg °

1

int numl;

Console.WriteLine("Enter numl : ™);
numl = int.Parse(Console.Readline()});
numl++;

numl=numl * 5;

--numl;

numl=numl / 2;
Can
Can

1 n

ole.WriteLine("numl={@&} ", numl);
ole.Readkey():

5
5

file://fC:/Users,

bl ©j50 4y (295 5 meoln pllaS K0 w1, FB asSs STlallas o8, 5l o Jl>

Dgs o 00l yioled
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{
bool result = true;
Console.Writeline(result > @);
string s1 = "Ali"j|
string s2 = "Reza";
sl += 52;
s1 =5l - s;
tloat £ = 188 - s1;
s1 -=s1;
Console.ReadKey();

¥

Error List

Entire Solution - | €9 4 Errors

I 0Warnings |00Messages | | Build + IntelliSense

WS oy |y ol alhs g aig )l ow 4o 1y Jilio 4ol p

Search Error List

Code
B 50019

Description L\X}
Operator =" cannot be applied to cperands of type 'bool’ and 'int’

€9 50019 Operator -’ cannot be applied to operands of type 'string’ and 'string’

€9 50019 Operator - cannot be applied to operands of type 'int' and 'string'

€39 C50019 Operator '-=' cannot be applied to operands of type 'string’ and 'string’

Errmr | ict

Project File
ConscleApplicatic Program.cs
n5

ConscleApplicatic Program.cs
ns

Ceonsclefpplicatio Program.cs
ns

ConscleApplicatio Program.cs
ns

Line Suppre
14 Active
18 Active
19 Active
20 Active

lhl.b.& sw)).g

2,5 solawl OOl jlade slp 1, > Slae oylg (o) F Loz glas—)

5,5 oolaiwl gl ais ;) o e glp |, — Sae ol o8 VAL glas -Y
5,5 oolatwl S1) gl i) yusie glp |, — Ko ol 03 VY Lz gllas Y
5,5 ool gl als ;) psie glply = Sloe ol od Ve Loz gl -F
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1 650k axlg & ooy

.oﬁf‘so‘_'gJ.as‘«.gjxéo&b@}l&.pqu"w;wg,a S99 )l |y dnwgo S ,_gl.bd.g.gé‘.xa’{glbd.%)xéo Slowi A5 S 9w (gl 4ol

40l 2 et gs

[ | | int ¢4 5l (b a>0) childrengy (a> 85 1) booklet aio oy,
int booklet, children;
Console.WriteLine("Enter number of booklet : "
booklet = int.Parse{Console.Readline());
Console.WriteLine("Enter number of children :
children = int.Parse({Console.Readline());

Dgd oo Kl y0 (8399 5l b ax 18 slaad owlie play b

55 (oo 8l (5955 5l b az Gl ol pliy L

2

int count = booklet / children; count s J=lbs Q] Slade Qo\o JUCIEYT Ay slaws ROV} > d> S8 oy
Console.Writeline("count={@} ", count); )
Console.ReadKey(); odel Cewd @ dae yoled ®

D)l 0959 I las dol p dos 45 40, 39 dos i Aol U oy o0 |y FB anS®
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=92

tiley/ /L Users/Hadiseh/Desktop/Cor

Enter numbher of hooklet : Bee:ld ax yx80 oluws

LHA Voorld azm olows
Enter number of children =

>R (Dwy 0 a0 Y b az sl plos a0 o) ¥ oolows

count=2

Enter number of booklet
288

Enter number of children : rdoli  Susxo 6|).'>|
0 ) E -

Dee:ld d 80 ooy

_ or A olosy
int count = booklet / children;- - ; o o . . .
onsole.lriteline("count=ta} *. d  DivideByZeroException was unhandled Ll ! by glas s ol g.ods oy bl glas aol p
-onsole.Readkey(); An unhandled exception of type 'System.DivideByZeroExce| )_g_,o P oue M ‘SUQ’ ‘5,,” divide zero :bs cde

Consclefpplication5.exe

Additional information: Atternpted to divide by zero.
[
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L yo 55,5 so Jlado b (s pol (55)IC o S om0l b (s yd (35)] 99 s (bt Dllie. wiiS (o0 oo sihaie lile (59, b sl Slos
5 g e yho b s

&S o hosfalse &) aszs Slae opl wils 5 ptrue s o )le 51 o S o oS0 | BoOleaNn & jle G ames NOT L Kloe ool | JSilos dzei
(35 oo woSae |y ighos 03] Lands Klac)

Alily s yd 3, Wgkes 90 0 a8 Canl Gy Bg)asislirue lade wigles g0y a5 Wil 5 o pTrUE Jlade S50 ,0AND L Slee ol && (Sloc asii

(o

s ,0b 53, Wglas 90 yo aS Cewl s yob  8g) wll axilotrue ass bbaiglas 5\@45&0;60)4“% Jade Jyge O0R L See oy ||).<.1.o.c4.e=~.»

((.o,ls S 4 uﬁ;)‘)l QT Az O lge ady 4o) wbl allly
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A=false A=lb; g (not) ' R > o ol A Jods ol o c=f = - P

’ ? : S5 <l c=false ¢ b=true ,olic ¢lp Jlw ol o
Afalee A=b&&C: JAnd) 2.8 5o 5o Jol> A )-’ 9 » » e ol
A=true A=blIc; L(Or) |
A=true A=lb; o2 (not) | . ST i _ - ) .
A=false A=bR&C: (And) 28& g oo ol 5l A Jlade sl C=true g b=false olic 1y Jlo ol o
A=true A=blic; L(Or) I
A=false A=lb; szs e Wigd oo Jol> ) s A Jlade gl C=true g b=true polio olp Jio ol 5o
A=true A=b&&c; s(And) &&
A=true A=bllc; L(Or) I
A=true A=|b’ A8 (not) | d..ag...u = J.ol.‘> 2 aLu A )14.8.4. Lg‘).g c=false 9 b=false ﬁoLS.o Lg‘).g JLA LJ"‘ 59
A=false A=b&&c; s(And) &&

A=false A=blic; L(Or) I
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byte %, v;

v = byte.Parse(

¥ = byte.Parse(
Jriteline( (x
.Readkey({);

I

(oS (o0 &b 0 (5899 3l Aillax 1) 30, p18)1)

byte e 5l pgs o, <8l s sl 6,50 5 sl o8y <8l sl (S YsX sl b ay jwsiie 9o iy
C e V oposie J3ls ol sols 1 8s 604, 5l dae bl o
ReadLine()); e J21o o1 ols 1,39 (63955 5 J

.ReadLine()); X joxie 210 0ae 4] olo )18 9 (50g,9 3l 0ue cél o

== 2) && (y == 5)J; 38 oo b JiB 5 WIs T oy |, trUE Jlie wil O plp Y Jlade o ¥ X laie S

D9l (oo b J88 5 ails 5 e LFAlSE jlade & jgan) 2 o

(ol o 30U & yguais| el 58 Il Cow yd @ yles 90 p2 A Sl Cawyd Sloj aiid g cuwl (9 AND) && b s oo ] g)

o = x r
z i : :
True al=E Fal=se Falze

iz olael gl 9,5
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O 5k A5 s g (5 4ol g udles (0098 (o0 5 e 3oy pB, 51 (S JBlas (10g) w0 yg0 50 9 Cewl ou DIy Ve OB, (I Bl (yluen Jas

byte g5 5l p5o 03, dlys ln 65N 5 sl 08, <lyo ln (oYX sl b ay i 50 iy pad @

1
byte ¥, v; Y e S50 o1 ol 1,89 (68959 5l sae b, ®
y = byte.Parse( ReadLine()); )
¥ = t'_-.'_E' F'Ell'“*'E{ Fl;':'EdquE'., ;” X yrin Jlo 0ae ol fols J158 9 (609,95l oae el @
Mriteline((x == 2) |[| {y = 5)); S9d go b JiB g wls,S oy |, IUE e 0l O ply Y Jlade b Y X Jlade 51 o
ReadKeyi );
1 Dgd oo 5L J88 g wils S e LFalSE Jlaie & jgan] e o

(w‘ w)d u)g.»a.u‘]..c)d ML: w)OL’ u) EQ).QASW‘ W)OL’ G’L" Mﬁw‘ (La Or) || ‘Laj.w QLQ.Q U"‘ﬂ)

|
2 ;
irue False

iz olael gl 29,5
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WS Bl 50 (69959 3l 1) 198 Cordg &S s g (51 ol o udleS (o0, 0 3 9051 4 1y (L g2 i il Cuwlio 192 (5T Cawl A 45 o’ (gL yid S o

SS90l 4y (8 ) Camdg g

:daauje EE*“593

string weather, string ¢4 ;| weather o oy, @
NiriteLine("please enter| weather:");

iEther = ReadLine(); S oo cdl o weather sl 1) s)laie )5 5l caslio pli b @

s : n“'ﬂ:---;- e ok Flandye TRV ap 1= "Fln TJ i
'L:‘;l 'tELl?:I‘ eether s ot cloudy: (B}, veather .= _cloug s < ol 1y weather !=cloudy «,Le >4,5 weather is not cloudy: & Le sol> *
Readkey();

Dy daly> True &jgan!l e o gfalse ol cloudy 0,5 o)y & )90 40 a5

weather: weather: . . . ;
cloudy Sunny Gyl gla pliny gl a0l (29,5

wveather iz not clouwdy: False weather iz not cloudy: True
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